Regattaverein Brunnen

Klasse:

Ranglistenfaktor:

Wettfahrtleiter:
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Star

Martin Knaute

Vertungssysten:

Streichung:

Schiedsgericht-Obmann:

I7. 4

Olymp.

ab 4 Wettfahrten

18.

X

August 1991

Werner Inderbitzin

Endergebnis nach 4 Wettfahrten

¥anrschaft

Hunkeler ¥./Rlostermann R.
Paulich 0. /3ckert P.
Naurer #. [Maurer Th.
sienz A. [ Lissy Th.,
Rehrer B. [ Theratlaz T,
Plickicer D./Rorsvaar H.
Gubler H. / Largiader A.
Ryffel J. / Meseek Th.
staryalder A, /3rack Th.
Ingold ¥. / Yeth ?.
Hunzizer 3./Nagelisea V.
¥yss D. /[ Wyss L.
Praston [/ Tayler
Wolf &, [/ 3ritsch X.
#alder / ¥aldsr
Rauss R. / Wacker §.
¢aul A, / Raufnann D.
Albi R. [ Walter J.
¥aurer ¥. / Raiel R.
Berchtold 0./Lenzin P.
3alestra / Haggenniller
Keuss K. / Ryffel P.
Lautenschlager/Lautenschl,
Meili M. / Firrutten P.
Schyitter 7. / Lembke K.
Steinmeyer J./ 7
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BLOW P2

5.0 & 117
5.1 2 3.0
1.0 170
8.0 5 10,0
1.0 3 5.7
0.0 7130
11.7 22 3.3
3,0 10 16.90
4.0 9150
3.0 4 8.0
6.0 111,90
15.6 8 14.0
13,0 13 18.0
2.0 14 20.0
17.0 17 23.0
4.0 16 22.0
18.0 20 26.0
20.0 15 21,0
9.0 21 27.0
3.0 1218.0
25,0 25 3.0
26.0 19 25,90
27.0 23 29.0
28.0 18 24.0
23.0 24 30.0
33,0 dne
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